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The book Collapse: How Societies Chose to Fail or Succeed by Jared Diamond is about many societies from the past that have fallen or “collapsed.” When comparing Diamond’s view on past downfalls to a well-known quote from the novel The Go- Between by L.P. Hartley, a clash in the two authors’ views becomes pres
ent. The quote says, “The past is a foreign country; they do things differently there.” Through Diamond’s book, he disc
usses the failures of past societies such as the inhabitants of Easter Island, the Mayans, China, and Australia. As Diamond describes the situations of these societies, he went into great detail about the reasons for their failures. How Diamond determined whether a society was fallen or not was by the five point framework. Diamond came up with the “five points;” those five points being: environmental damage, climate change, hostile neighbors, friendly trade partners/ allies, and lastly the society’s responses to its environmental problems. The importance of both China and Australia is the fact that they both are societies that are dealing with issues currently; they are also examples of how we can learn from past mistakes to avoid future downfalls. However, through all of these points Diamond succeeds in showing how from previous errors, our world today can prevail and dodge the possibility of a collapse. 

Easter Island, a past society, had many issues; one of
 these matters being over population. The socie
ty of Easter Island was very small, only consisting of about sixty square miles. The people of Easter Island also experienced many other environmental problems, which they did not bother to fix. Rather than focusing on their environmental complications the people of Easter Island instead focused on making statues that surrounded their territory. These statues did not address their environmental problems; yet the people of Easter Island still built them. To help the people in raising these statues throughout their island, wood was an important material;
 so the inhabitants cut down many trees. The act of the inhabitants cutting down so many trees resulted in tiny shrubs that were not enough for the people to survive. Also since the island was so distant from neighboring countries, with one being thirte
en thousand miles away, the help of close societies was difficult for the continued survival of the Island. 

Another society that collapsed was the Mayans. On
e major issue for the Mayans was having too many inhabitants in their society and climate changes. Since there were so many people on the small piece of land, the need for food was very strong. When their climates changed from a wet period to a dry period this created agricultural issues. The unpredictability of rainfall was one of the main causes of agricultural failure. Some years there were “three or four times more rain than other[s]” (Diamond, pg. 160). When there was a great amount of rain fall, the farmers would prosper greatly; however, when the rain did not come when expected the crops the farmers planted simply did not grow (Diamond, pg. 160). The Mayans way of agriculture played a role in their failure. First, their dominant crop was corn, which contained little protein and did not help their soil (Diamond, pg. 164). Secondly corn was not as intensive or productive when compared to cinam
pas; which was grown by the Aztecs (Diamond, pg. 164). Another limitation the Mayans had on their agriculture was due to their humid climate (Diamond, pg. 164). This caused the crops for the Mayans to only be stored for one year while others, such as the Aztecs, could store their crops for three (Diamond, pg. 164). Finally, the Mayan
’s had to transport everything from the fields themselves (Diamond, pg. 165). The main concern with the Mayan people carrying all their crops from one place to the other was the effect that was left on the crops. The men carrying the crops ate some of the food on the way from getting them, and on their way back to the crops to finish their collection (Diamond, pg. 165). This left the Mayan
’s with “only a fraction of the load available to feed the army” (Diamond, pg. 165). Due to the Mayans small collection of food already, the amount of nutrients they were losing from this strategy left them with and even smaller amount of crops. All of these environmental issues with agriculture played a role in the collapse of the Mayans similar to that of inhabitants of Easter Island.

Although Diamond goes into great lengths to tell the mishaps of these societies, he does not believe that these unfortunate collapses are simply events from the past; and we have now grown to never make these mistakes again. Diamond’s opinion is that we can take from these past experiences and learn from them. The consequences, however, from ignoring these mistakes would be the collapse of our society. 

A society cannot prosper on purely economic and environmental statues. In the case of Easter Island, the community did not survive due to the scarcity of trees, but rather its denial of the economic issues present. The people in both our society and that of Easter Island have seemed to ignore the environmental issues at hand. Our society still cuts down thousands of trees each year. This should be a warning for how many trees our civilization cuts down and do not replace. In the eyes of Diamond, the past is no different than the future because we still make the same mistakes, one mistake being cutting down trees. We are also experiencing climate changes, one of them being global warming. These are events that happened in the past and have aided in the collapse of failed societies. These are also events that have led to collapses in the past and are similar to events that are happening now. So those current problems could cause a collapse in our future. There are people today who are attempting to prevent these issues from making a large impact on our society, but just these few people are not enough. In Diamond’s opinion due to our quick development and l
ack of responding to our destruction of the society, “the world’s environmental problems will get resolved,” it just might take longer than everyone expects (Diamond, pg. 498). 

My reaction to the quote was very similar to Diamond’s. I feel that our past mistakes can be fixed at some point in time within the next few generations; it just may take a while. Until then, we should make the effort to help our world head in a better direction. A simple way of heading in a better direction would be to figure out our main issues that could lead to a collapse in our society, and fix them. As Diamond said, “the single most important problem is our misguided focus on identifying the single most important pr
oblem” (Diamond, 498). So as a society, one way to help lead our world in a more positive direction would be by becoming better at recognizing our problem and acting on it. For example, since the first Earth day in nineteen seventy we have come a long way with our “environmentally safe” decisions, but not enough people join in on these decisions to make a great enough impact. An example would be recycling. Although it is known that recycling plastic and other products such as cardboard could go a long way to help our environment, some homes and restaurants do not recycle. This choice or “mistake” that homes and restaurants have made can affect our environment in a big way. One way recycling can affect our environment is the landfills present in our world are getting close to becoming full; and our states are running out of room for more landfills. We are also accumulating more trash each year; therefore if we do not begin to recycle more we will have no place to put all of the trash we will acquire in the near future.

The people of Easter Island and the Mayan people made many mistakes that led to their collapse, and societies today such as China still make similar mistakes. China is currently trying to prevent over population. Their government has set a “mandatory fertility control” on the people to help stop over population sooner rather than later (Diamond, pg. 360). One of the major reasons for China’s need to maintain a strong environment is because of their large economy, population, and area. If their economy were ever to experience a downfall, it is guaranteed that China’s environmental problems would eventually spill over onto the rest of the world (Diamond, pg. 358). Due to the importance of China to the rest of our realm, the reality of their economic issues actually affecting other society’s economies is great. However, this decision of fertility control has led to China having “eighty million more households than it would otherwise have had” (Diamond, pg. 360). This decision of putting a cap on the number of people allowed in a family seemed like a promising idea for their economy; but, having that many more households was not part of the plan. The increase in households mainly impacts the environment. This impact could end up being larger than expected since each household will now need electricity, water, and other supplies necessary for a house. Decisions like this can be fixed, but only if the people take actions to correct the mistakes they made. If someone does not fix the mistakes and the world remains oblivious to the issues that are taking place, then more issues could arise. Unlike China, other societies are experiencing issues that are out of their control. So while China can begin to fix one problem that can attempt to be fixed, other countries are left to face concerns that are out of their reach.

The Australian environment is another society that has been experiencing issues throughout the years. However, the difference between China and Australia is 
some of Australia’s issues are out of human control. The Australian’s environment falls into the five point fame work factors that Diamond has identified all throughout the book. These factors being: environmental damage, climate change, hostile neighbors, friendly trade partners, and the society’s response towards environmental problems. All of these factors relate to Australia in ways that will harm their society and are reasons their society is experiencing problems today. 

Australia is known to be “the most unproductive continent” (Diamond, pg. 380). The reason for Australia’s reputation of being unproductive is due to its soil. Due to past rain falls that have leached the soils of their nutrients, Australia has been left with soil that produces the lowest plant growth compared to the world (Diamond, pg. 380). There are three different ways for Australia’s soil to be renewed, the first way being volcanic eruptions. However, only a small part of Australia “[has] had volcanic activity within the last hundred million years” (Diamond, pg. 380). The second way of renewing resources is by 
grinding up glaciers and then “[re-depositing] the earth’s crust” which will hopefully deposit fertile land (Diamond, pg. 380). Then again, Australia has not seen glaciers in any part of the continent except for one percent (Diamond, pg. 380). The last possible way of renewing the resources for Australia would be through the slow uplift of crust, which can bring about new soils. This method also proves to be useless for Australia because only some areas of Australia “have been uplifted within the last hundred million years” (Diamond, pg. 381). As one can tell, Australia’s land has yet to be renewed since none of these processes have been able to provide significant differences to help the soil. 

Another factor that takes awa
y from Australia’s lack of nutrients in their soil is inconsistent rainfall. Due to the scarcity of rain their soil is even more impossible to farm without irrigation (Diamond, pg. 383). For many continents to survive, being able to use the lands resources is very helpful. However, when rain is scarce, agricultural issues form; and then follows economic problems that are out of human control. 

Lastly, Australia’s “perception of actual and potential overseas enemies has” helped “[shape] Australian environmental and population policies” (Diamond, pg. 379). Meaning, although Australia has yet to be invaded by neighboring countries, they are prepared for what could come at them. The Australians also understand the need to obtain imports to help with “environmental impacts” (Diamond, pg. 379). Although others do not understand the reason for Australia’s imports, the Australians are thinking of ways that help their society in a way that will not cause them to become part of the fallen societies. 

The Australians today are recovering from past problems that have led their lands to be unproductive and have suffered from climate changes that have affected the land. Also, Australia has to deal with potential enemies like all other continents in our society. The formation of allies has and will also help the Australians to survive with resources they cannot produce for survival. These many obstacles that Australia has to face have affected the way of life for the Australians; however, “Australia’s prospects for solving those problems give…hope” to their society (Diamond, pg. 379). Although Diamond states there is hope for the Australian people, whether or not Australia can overcome these previous problems that are still affecting their society today is something that could take years to resolve. 

Overall, I feel that the problems in the world today are results precisely from the fact that we have not, and do not, make up for our previous mistakes. Also, as we move forward with technology we create even more problems. Although these problems are “unintended negative consequences of our existing technology” we still need to be responsible for the issues we have created (Diamond, pg. 505). Some of these issues being air pollution and using up many of our nonrenewable resources. The United States have come up with laws that attempt to protect our environment. The creation of these laws however will only be effective if the wo
rld listens. Also, creating more environmentally friendly products all around the world would help many societies survive in our fast declining world. Therefore, I do feel we can change our ways and become enlightened enough to be able to help our world overcome the idea of a collapse; as long as we
 change our old habits. 

�Maybe “apparent”


�You still have the inconsistent tenses I was pointing out in the first version.  It would be fine to put  all of the verbs in the  present tense in this paragraph.   


�This is still not correct.  Probably the most direct way to say this would be something like “The society on Easter Island had many issues, including overpopulation.”


�“Society” would refer to the people.  The 60 square mile figure is the actual land area.  This sentence does not “work” now.


�Not a good place for a semicolon.  This could be two sentences.  


�The closest islands (and the coast of South America) are nowhere near that far away.  Did you mean 1300 miles?   


�Don't you mean two major issues?   :)  


�This is not the name of a food crop.  It is a name for the farming method the Aztecs used.  


�No apostrophe here (not a possessive)


�No apostrophe here


�This sounds contradictory because you are saying that we are not responding to environmental problems, but they will get resolved.  If it works that way, we have to start responding at some point. What will it take to get the process going?  


�Diamond's point in the section you are quoting is that there is no single problem that needs to be addressed – they all need to be addressed, and quickly.   How does that fit with what you are saying?


�Something missing here – maybe “ … is that some of … “


�Careful – it is the glaciers themselves that do the grinding and redistribution of the crust.  


�Didn't catch this before, but I think you mean to say “that makes the lack of nutrients in the soil more serious,” not “takes away.” The fact that intensive irrigation is necessary makes the problems with the Australian soils worse.   


�Our laws only apply here, of course.  What did you mean by this?  Are you saying that other countries should enact the same kind of environmental protection laws that we have?


�Colby, 





   The Australia section of the paper does a good job of summarizing some of Diamond's ideas there, and it is a good example to use  to fit your new theme we have the capability to change things (even if it will take a while).  I have to say I'm not entirely convinced by that, but it is what we have to believe if we think there is really a future for humans here.





This shows some  improvement over the first draft, but you still need to be more careful about technical issues such as plurals vs. possessives, etc.  Also, 
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